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Sec 5.2. Euwer’'s Methed

Lvp 4—y=¥&.y>, AEt<hb , Vi)=&

t
Mesh PoTMJrS '. ("‘\\/}‘\‘ A
R T, by
'ta *—N
te=0a+ith . i=0,1,-~ . N

(h=tw -t - S+e1> size )
T@ylov‘s —Weo}em aives

y({tﬂ) = Y('\:L) T (-l:t’r\ ‘Jf.l> y'(JCL)
+ (Jtzﬂj:"\":) \/I,(‘S;) -

for  some &€ (i, i) .

= YHQ%W;.&H&WMWMM1 with  Euler's

tethod
- (Fovwo\vq]) Eulev' s W€+L0J.
(e)\[)\id*) ,
Wi = W+ h Y (1) ( Vﬁ*)ﬂ%.y) \
= W;

Yt =F ety



ex) Y =Fw.y)=yY ., 0¢t<]

, Yor=1, h=o0.5.
We = Y0 = |
Wy = We+ hTF (1., w.)
= | +(o.5)- 1 = 1.5
Wa = Wi+ hF . W)  (ome-step method )
= 1.5 + (0.5)-(1.5) = 2.2F
Y = e*
y(0.5_726'0.';
~ .64
E Yir=e'x2.3

exy V' =-Y+tyvr, 2¢t<3
Wo:l

W, = We + hF (4, W)
2+ (0.25)(-2+23) = 2.20%F ,
Ws W4

Y =2, h=o0.25

=

W

Evmv bDIAY\c]S
|V = wen] £ (14hL) [ Y - We] + A M

h is small = emor is  small’

Rockward  Euler's  method
( Ew«PI’\d-H

f Wiy, = Wi + h_F_(-tt{-\,Wi'H\)
Wo = Y (t) =



exy Y'=-l00Y), 024+ <2, Ywor=). h=1.
( Forward )

Wu=|
w.=|+l4\-(o,|>=|—|oo:—‘1‘1
Wo= -9+ Lf(1.-99) = -99 + 9900 = 980

(unstoble)
— —loot _ -loo ,,
Y& =12p = Jm=e *xo0
)’(;L) = e—lob n 0
vV
0

(Bocknayd Y reden conp. e
We = ) S— sobe on eﬁ]wx\'zon st each 9\e‘> (ex}aewdve S‘\‘eF)
W, = W, + h-F(t\.WI)
I + -t 0, w) = 1-loow,

L Jolwi=1 = W . =1/l0]
_ _
WA_“‘ lol +|-§\_(-’)—'Wl)
S _ _
ST 100 Wa = W ol
We > Wi >W, >0 ( Stable )

\ 3—\’0\\:7,1-}}/ JePemJTng on h'

exercise) Y'=-looy, 02%<2 , Yw=1, h=o0.00)



